o»nn a7 '0m 2,20 P2 .70

And did he say it when it is alive! — AR R 2R

Overview

The X2nx established that our 7iwn, which infers that one is 21 if he
damages 0°9p o*w7p for which there is no 77°¥n 21°1, follows the view of "
""%37 who maintains that 5"pp is 2°%¥2 1%, The X3 (the 1370) reconciled
this view of °72°%377 °"1 with another mwn, which states that if one is WIp»n a
woman with his share of a j27p 2"pp she is not nwTpn, by differentiating
between 2»nn and 70°n AnRY. When the 277 is alive it is 2°9v2 17mn; however
mwnw NKRY it is considered max Nan. The Xna (the wpn) challenged this
answer, exclaiming "X » 017, does *2°737 °"'1 maintain that o>»nn the j127p
is >%va nan! [The Jwpn continues to prove his point that °2°%37 >3 cannot
maintain that 0°mn it is 2°¥2 Pmn.'] It is not clear what the TP meant when
he asked "X °»n o»nnY. It is certain that °2°%37 °"3 maintains that (at some
point) ?"pp is 0°%¥2 1nn; he states clearly "avan v, If it is not 2°9¥2 17
o>nn (as the Jwpn seems to maintain), then when is it 2°7v2 1772?! Our NDOIN
discusses this issue.

MooIn asks:
— NVINY INNY v 95 9N NY 0NH1 X NINYT NPYO NP INND NN

It is astounding! What entered the mind of the questioner who asked
nR on ' 21 IF 9937 o1 1 did not say his rule that 2p 2WwTp is v
0°5v2 when the animal is alive, then after mumw it is certainly not ovbva .

MooIN anticipates and rejects a possible solution:
— NA9PNY NOTHYT RN IDIAN 9N 90 DNNI XYIVD 2917 91990 PPN

And one cannot say that the explanation of 'R % 2»n®Y' is that does "1
"»%37 indeed maintain that 2°9p 2°w7p is 2°%y2 177 even when the DwTp are
fit to be offered as a 1:ﬁ.7.4

" The question culminates when the 7wpn concludes 121 Xn°X axY'. See oX1 71"'7 N19OIN at the end of this Ty
for a detailed explanation of the question.

2 59937 2" states that 2°9p D°wTp is 0°¥2 n. The X3 concluded that it is 27y 17 only o>°rin, and not
onw nR?. When the jwpn asks "R °n 00, this indicates that ¥2°2377 °"1 does not maintain that it is 177
o»nn 0°%va but at some other time. At which time did the Jwpn assume that 7°9277 °"1 maintains that it is 717
o'hya?

3 Logic dictates that nvnw InX? when it was 2793 on the nam; it is less 2°9v2 171 (and more 7123 1) than
o> . See however My 015 who challenges this assumption and maintains that 70nw X, once the P
2°%y271 has been defined, there is more reason to assume that it is 2°¥2 1w, [See further in aRY 3"7 NDOIN
footnote # 16 that by a 01 v2 there is more reason to assume that it is 2°7¥2 1% after 7V W than o>°nn.]

* This would (seemingly) clarify the view of the 7wpn (who asks 71X » 0>°1i7) as opposed to the view of the
1870 (who answered 121 07 >2°937 >"' K °). The 1370 maintains that *2°93;7 3" considered 2"pp to be 1mn
o'va even if they are 727p7% "X (as Moo will shortly prove); while the 7wpn maintains that ¥2°937 >
considers only 2"pp that are not 71271 "X1 (like a 2"172 722 [or 1"7712]) to be @*7va .
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mooIn will now explain why the jwpn assumed that the 1870 maintains that *9°9x7 >
considers 7"pp that are 727777 X1 to be 29w 9n:
— NVINY INNRY DNN 122 MDD

Since you (the 1¥7n) differentiated between when the 1277 is alive to when

the 1277 is after 7uonw® -
— MOINY INNTT NIDT 1NN 1Y NIYN N29PNY 3TN 199N BPNNT Y9N0

Inferring that when it is alive you consider it to be the owners’ money

even if the animal is 7a=pr™ ", similar to case of after 7w MY where the
animal was (certainly) 72779 X1 [it was brought as a ]31p].6 This would seem to resolve
mooIn initial question; what is the view of the jwpn.

mooIn, however, rejects this interpretation:
— 0DWN NIYIDY 91931 7999 ¥ )5 ONT

For if this is so (that the 1870 maintains even by 2"pp which are 72972 "X
are considered 0°%¥2 11n), the Jwpn instead of challenging the jx7n with the
case of 1993 (where it is indicated that by 7279p7% "X7 is it not a*>¥ya 1mn)’,
the 7wpn should support the view of the 1370 from the case of ambw —

MooIn continues to explain what is the support from 2°n7w:
— DY MA9Y NYN 29197 N2 NY SINTY 12 9INPT
For >Nty 32 maintains, the ?wp of 72 Hvn 'bszm which %37 "1 cites,
comes only to include 2°» in the rules of m>m owx.’
0‘1\7)17‘1 Y9975 995901 099 2297 NNYI WINDY INN YD NANY INTY 1)
And NP 32 and o RaX are coming to explain the teaching of *°%37 9''9
as v'""w1 explains. Therefore (according to *X1v 12) when >2°9377 " states that 2"pp are
2°%¥2 1nn he is referring to 25w (as well)
1:1‘1‘7’ NYINNIY 199N NAIPNY 1IN DINOY)
And ambw are fit for a 3127p and even initially they are to be brought as
a 3297, and nevertheless *2°%37 °"1 maintains that they are 2°9v2 i, This supports the

view of the 1¥7n. Why then did the 1wpn» ask on the jX7n, when he could have supported

him?'? The question remains what did the 7wpn mean when he said X °» 2>nn1; what

else could *2°%371 °"1 be referring to, if not o»nn?!

mooIn offers his explanation:

5> When it is alive it is 0°5¥2 Tvan and 0w RS it is 17 Xp M3 TIWN.

® If the 1¥7n would maintain that only by 72777 X1 1°K does *2°7377 *"1 consider it 2°2¥2 111, then the 1370
should have differentiated between the m1wn of p7m2 wipni which is (obviously) a case of 727p% "X, and
the ruling of *7°237 > where it is not 727272 "X, The fact that the %0 did not utilize this distinction
indicates that there is no such distinction (according to the 7¥7n)

7 The actual question of the Jwpn is explained in X1 7"7 MoOIN.

8 R,2 1ph.

% If one stole (or denies a 179 of) a 0°n%W he is liable for all the °17 of M2>13 oWR including awRY W 17p.
0 pann "7 moa R, pb.

' See (X"w1anY) 2" who interprets this that even a 2w from" 1 is brought 129779 to the P2

2 See “Thinking it over’ # 1.
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— NI 9517 919 v

And one can say that this is the explanation of the question -
— 05V 02155 YWY PHNA NN MINNA 9N I DN

And did *%x7 °"1 say that when the 3297 is alive it is 2°%¥2 1vn even
concerning the offerings to the 372; that portion which the 23272 have in

the Paombw 1277, is that also °9v2 1n?! The JWwpn understood that the %70 maintains
that even the 713775 Mny parts of the 05w are 0°9v3 mn (when the 1277 is alive). '

moon will now explain how the Jwpn derived that the 7¥7n maintains that even the nin»
73170 are 2°9va nnn.
— NV NNNI MIND MNP NI

Since the 1¥7n did not answer; 773775 nun» are different. The 170 could have
answered that when *2°%37 > ruled that 2"pp are o>y 1, he was referring to the pon
0°%y27; however the miwn which states nwTIPn 7R "2 P72 wIpna is referring to the pon
0°1721.

mooin will now explain that it is proper to assume that the mwn of Wpoma wWipna is
referring only to the o971 pon:
— 0YYA 02195 YW PHN NNND MINN 132N 1PN VIPNRNY

For the phrase 2°n2 wp»i means the 7733772 nun»; the share which the

221772 have in the 2992 j29p. The 1%n could have made this distinction; however
he did not -
— 191 71933 JNDYUN NVINY INNYT DIYN MNP NIN

But rather he answered that the reason Y712 WIpna is not NWTIPA is

because after wInw the 0°1770 acquire their share mas Jrown -
— 1139N9 TNINHN MHNT 2) HY N BO9¥2 1119 1N NN YA YIUN

This indicates that (only after v nw it is 23 Mn; however) when the
animal is alive these parts which will be given later to the 772 are @°opa 3%»

even though they are 1729775 nunn. It is this view of the %70 (that 2»nn An75 Mann
are 0°9v1 1:mn) that the Jwpn is challenging.

mMooIn now challenges the assumption of the jwpn that the jX7n maintains that 73372 NN
0NN are 0°%Y2 M7, since the 1¥70 did not answer simply, *IRW 71372 NMINA:
— NNV NN MINN NWN NN X 9NN ON)

And if you will say; that we cannot infer anything from the fact that the 7X7n
did not answer "IXW 72170 Mann, for if the 7¥7n would have answered nunn»
AINW 772 -

13 The 07175 receive the 1wt of the 2°n%w 127p. This would mean that the one who was 17792 wnd of a
o°n7w would have to pay the owners a wmm 17p for the entire animal including the 0°37571 ?%n. [The same
will apply if someone was P 1 the 0°n%w; he is 21 for the entire animal.] See ‘Thinking it over’ # 2.

'* According to this w1°® we cannot ask D°n7wn 7¥0%, because the Twpn will maintain that even though
727P0° DR DM are 0°7¥1 Mn, however that is only in regards to the 2°2¥271 %1, not then 3127 pom.

'3 It is necessary to assume this, for otherwise the 1370 could not have answered that it is 7123 1mn only by
17107 pon (if 1p2na refers to o°%van poi as well).
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— 0992 1999 NN NVINY INNRY 1DANR DIV PONT ¥NIYN NN
This would have indicated that the owners’ portion is 2°%y2 3722 even

after "%;u°mw, and this would be mlsleadmg -
—99% 7172 JN5YN YT AN 3193 (xxn nxray IV 0T /2 P92

For in the second P92 of [71%°3] 2 2y noon the X ) also states that the

owners are i72a 111’72??: 7127, Therefore the 7X7n could not have answered 131775 NNy
IR (because of the above misleading implication); how then did the Jwpn derive that the
7¥7N maintains that 2nm the 7237 NInN? are 2°va Pan?!

mooIn answers that the 0°%yan P50 is indeed 0°%va 1an even after 7w nw; and concerning
the X773 in 7%°2 Wthh states that it is 7123 ]1?3?3 that is 1nterpreted in a limited fashion:
990 013 052599 19981 mata 05973 1935 9991 2307 Y U

And one can say; that these words (that the 1371 M2 J>wn 2°v2) is only

regarding the rule that 25971 and n271 are not offered on the 17217 on ©''" -
— M2)Y XY 05D MM DYI¥ NIYON DIYN KDY M) Drawa MM NVINY 9PIYT DIVYN

Because the main 7w nw of these Ni127p are for the sake of 723 and not
for the sake of *'@a"»ya ny"aK, and therefore it is included in the exclusion

of 22maxs X9y aob -
— DYY¥2 PN NN NVINY INNY 1N B9¥ PYNT NDIWS YaN

However it is certain that the share of the 2°»¥2 even after the unw is
292 17 as far as -

- 937 Y9 NUN A WIPY
to be w7p» a woman with the 0°9v271 P91 or for any other matter.”

moon looks to support his view that the 1°7 of nw7Ipn 71K PHM2 wWIpn is only referring to
o°371977 Pon; however by 229y P9 she will be nwTpn.
— 9N 02313 PYNA 1PN WIPNDT YRUN 19

'® The implication of an answer *IX@ 717772 Manx would be that by 7197 N it is always mas 1mn, however
by 2°%v2an pon it is always 2792 1n even after nonw.

" In our text (and also in [23712 7"7] *"wA it states; 197 Max Jwwn 22370, However *"wA there states clearly
2°9y2% 7"m, and from Moo there 22K 7"7 it seems that XO1") M2OIN was 137 M2 J77WH MATN 0171 PaR
without the word 2°1772.

'8 A 9711s a general voluntary offering to bring a 127p.

' A 271 is a voluntary offering to bring a specific animal for a 129p. On v"1 we do not offer 112731 2171 on
the mam.

2 The expression there 131 M2x 177wWn 0°2¥1 is not meant to teach us that it is not 2°%v2 7vn, but rather it is
an explanation why 271 2°771 cannot be offered on 21w o.

2! This is what the X713 means when it says that the 197 7123 Jn2wn 0°%¥2. The 127p is for 77 (therefore it is not
permitted to be offered on v"v) and even though the o°7v1 also eat from it; nevertheless it is not considered
that it is being wnw1 for the 0°%¥2 since they are eating 157 M2x 72wy (they are merely guests).

% The 7190 writes (10,2’ [X2] Maw) 037 Awy® 1727 K17 w1 937 998 WK . We derive from the word 035 that
one may do a 779871 on u"y for the sake of 'n3%', but not for the sake of 7. It is from this P10 that we derive
the prohibition from being N12721 27171 27p» on v"1. Even though the 0°%v3 also eat from the 127p, so
perhaps it should be considered 037; nevertheless since the 0°7v2 are considered to be m2x J7own 117 it is
considered not 257 but '71%.

2 Therefore the 7¥70 could have answered “1Xw 71173 Minn, and it would not cause any misrepresentation;
the fact that he did not proves that he maintains that 0>n» 71175 MInn are 0°9v2 P,
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And also the phrase y%n2 w7pn indicates that we are discussing only the

portion of the 2°1775 (and not the o>5v2)
— 99N PYNA NYN TV XY 19PN W1pnh puy1t

For the expression p9n2 w7pn is not appropriate for the 0°%v2; only for
the 2172

— 15V 129N PP PYN PYUY 1Na TV XY DYy
Because concerning the 2'%y2 the word ‘portion’ is inapplicable, the
0°%v¥a do not own a portion of the 127 but rather the main 337p is theirs (not
merely a ‘portion’). This substantiates N0 view that (according to the 1¥7n) the Pon
0°%yan is always 0°9v2 1n even qVIMW RS,

mooIn continues to find additional support for his contention that 2912 w1pn1 is referring
only to the 0°17757 Pon:

—PYNA WIPNDT PIINNAN (3,3 91 pwrtp) YTPN YWIND 2992 Y1997 933 INID)
And also one of the as»®ep, which the X ) cites in wWIpn WONT POD
concerning the mwn» of Poma wWIPK, to explain why nwmpn arx, includes the
?109 of -
| — 0193 NN 219 XY PUxn 11 DIWTPA wIPn 19 190 Av
‘And this shall be for you (the 2°172) from the PP from the fire®’
which refers only to the 21712, This again proves that the limitation to be wpn a
woman 1211 applies only to 0°3;73 and not to the 2°%¥2.

The conclusion is that according to the j¥7n the o> 0°3727 Pon is 2°%¥2 Nan (as well as
the 0°%y27 P21, which is always 0°%y2 11an), as opposed to the Jwp» who maintains that the
Q1797 PN is never 0°7Y2 AN even 2.

mooIn provides a clarification in the X723 in W17 NOON: 26
— 9D %295 RXDT PNNINN NNYY NN 9INPT XM

And that which the X712 asks there, ‘should we assume that our mw»
(DwTIPn 7R 191 P2 wipnn) does not follow the view of 9''2” (who maintains
that it is o*5va Pmn)*’
— 0NN Y0V /9 YINRP 23 PrOM
And the X3 there concludes that when did "' state that it is 2°%vy2 17005,
only 2%, The X n3 there continues that -
— NOINY INNRY YAWUNT IPINA WTPNRN INDT 993 NPT

om0 (mp) 1272

> The X723 compares the share of the 3715 to “fire’; just as fire only consumes, similarly the 773 may only
consume the 1299, but cannot use it for other purposes (WX DX 12 WP, etc.).

26 9 31 PR

" This is the same question (and answer) that the X773 states here.
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we can also infer this from the mwna W which states pbma wpnm;

which indicates that the 71wn is discussing a case of after wInw, however *"
is discussing o> and then the entire 772 is 2292 N,

mooIn comments that the conclusion of the X ) there (in P¥17R) that 72170 MK are AR
323 (only) after v nw -
— NINT NaPONN 29D NI NY

Is not according to the conclusion of the x7» here -
— NN NINYT XPYOT N1 290 NIN

But rather it is according to that which was initially assumed (that o>mmn
everything including the rmg: minn are 0°9v1 1MN) -
$77N92) 19912 MM 0NN IR NN MINNA NIPONN ’aYT

Because according to the Xipo» here, concerning 7123715 nunn, it is 1»
M22 even Q’mn.

Summary
The jwpn understood that the 1870 maintains that when the 5"pp are alive the

entire animal including the (future) 717> nunn are o°%vya Nan. [The pon
0°%y2n is always 0°%¥2 1an even after the (M1 7p>M) nwonw.]

Thinking it over

1. m»doIN rejects the w1dH PRI, because why did not the Jwpn support the X0
from the ruling of X1y 72 that 3" is discussing a 27w which is  "X?
72772, Seemingly we can explain that there is no ¥10 from *Xiv 13, because
he may be discussing a 21 9¥a on>w, which is not 72777 w11

2. mooIn states that according to the 1870 the 2°375 PO is (also) 2Hva Nan.
Does this mean that it is 2°9¥2 1 of the owner of the animal, or it is 7121
0°%v3 of the 71797 VAW (it belongs to the 0°1719)?°°

% n1ooWn maintains that in the X1pon we accept the view of the Jwpn» (that 71375 mann are always 2792 100)
and not the view of the 1¥7n (that 0>nn even 7172 NanNA are 2°9¥2 11M71). See ox1 3"7 NMOOIN.

¥ See n"m1. However 7"19% there is no question for a 1w7p¥an *2100 M is ¥"13% 2°9v2 1n (it only requires
79). It is only by 712 that you are 719 for damage to a PwTpn *2109 MW because of the 12 77 nnm P10D.
0 See man MR 1" WAL
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